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(a)

()
()

CY

A
®)

& 3

®)

Compare Vitamin List I with its List II deﬁciency diseases

List I ‘ List II
Vitamin — B12 1.  Sterility
Vitamin —~ B6: 2. Haemorrhagic condition
Vitamin - E "3.  Pernicious anaemia
4 4. Skin disease

Vitamin - K
@ @ @

1 )

2

L
B = b W
- DD =

3

Lt g e I guérer el S dsemar uligwid IT sievas geopelams ghuBn eSlwurdaGerr( UG

(a) .

b
(©)
(d

4

®
©
®

LU iguie I e II
eveul L Sler— B12 1 wa [HSseTenn
eveu_ L ifleésr — B6 2 Boss1GLNES Hlenrcento
ol Lfar—-E 3. . ey @uis Conens
avaulL 18l — K 4 o

Caré eflwing)

@ () © | d

1 2 3 4
2 .3 4 1
3 4 1 2
3 4 2 1

The acid with the formula, H,N,O, is known as

GV

hydronitrous acid

_ M hyponitrous acid

©

®

"H,N,0, erénp QUMILITC L 2 LW Sifla Sepsslu@on Guuir

K
- ®
(©)

(D)

hypernitrous acid
nitroxylic acid

@’ GrrenpLyen Diflew -
a)gmu(ﬁurrm‘mﬁqe?b S|l
em@apuILIiT enpL e blewd

apLrraeadedls sifleoid
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3. The energy released by the complete oxidation of one molecule of glucose in plants is

A) 1600 KJ | (B) 2300 KJ
(C) 2500KJ P 2900KJ

graurhsailey e qpossag sidamr uawwuns HsalnCappn QslwiiulLrd Qeuaflurghd

Qppores) | |
(A) 1600 KJ ~ (B) 2300KJ
(C). 2500KJ | (D) 2900 KJ

4, Match the List I and List II and choose the correct answer

List I List IT |

(a) Telophase ‘ Chromatidé separate and move towards poles

(b) Metaphase '
(©) Anaﬁhase

(d) Prophase

Spindle fibres disappears

Nuclear membrane disappears

L

Chromosomes at the equatorial plane

@ ® © @

@A) 3 4 1 2
® 3 4 2 1
y & 4 1 3
D) 2 1 4 3

UL gwe I 2.L6n I 01 Qurrgd), sflwnan sflenLemw CoipOsHES
L guwied I i guwie IT , :

(a) wCor e &CrmGLLig L ser 9GS siGusms Coréd paidenpen

(b) QuL L e | '

(c) é;smr Hevew

@  yGor Heve

vleing.cr Qenipser WepphE SHEDS!
Bupsafiwen &.GG)_ID wenmul 24 Tb&ESng

S R I

&CTGLGsmbadr ewwiiuGHude srerTiuBEng

@ ® © @

A 3 4 1 2
®) 3 4 2 1
<€ 2 4 1 3
® 2 1 4 3
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Choose a correct pair of the followings .
(A)  Gonorrhoea — Wuchereria B) Neisseria — Ringworm
(C) Treponema — Syphilis (D) Microsporum — Filariasis

sflwrer @enemenw Caiibg er(BEsaD .
(A) CerQermAwr - 2 &sCpAlum o B) Gpwedflwr— uLigmosor
E M wriGurafior — mg.’.l&iaﬂdu D) mmés@urrsiu@umnb - wrenar SrOGHML

>

Which country is not the member of SAARC?

(A) Afghanistan : M Myanmar
(C) Pakistan _ (D) Bhutan

&mits el @b Qupry pn@ oTgI?
A)  glsrafldogrer : B) Hwumempi
©  undevgren \ D) yner

The Nelson Mandela Award 2016 is awarded to
‘U/ Ms. Tabassum Adnan ~ ° (B) Mother Teresa
Ms.Padma Sachdev ) (D) Mr. Narendra modi

2016 1b speiTg HETEN QpeFer wenGLan mPener Quippeurr
(A)  Ms. gusd oy per B) eamar Gg(‘:qarr
(&) :Ms. LIGLOM &&(355&1 , D) Hw.sCrHHrCGomg

W}uch country .is gé)ing to host the 2016 twenty 20 World Cup?
(A) Awustralia ' (B) Pakistan

#7 India g - (D) South Africa

2016 @ ﬁ@LGlummsifm 20 gauir 2 @au GCaruamu Gurri_qc;m s BT BLSS ad:rerrgj?
A)  eydCradur . ®  urddognen

(O @bHur . D) QgeremuGfssr

5 | JSOGS16
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9. Which of the following is cor?ect as per the population census of 2011?
| 940 females for 1000 of males
(B) 933 females for 1000 of males
(C) 950 females fbr 1000 of males
(D) 953 females for 1000 of males

2011-1b gper® wéseT AgTens 5@&;@5@0@@ Liq 196eu(meueTeuDmIeT 6Tz Fflwimang?
(A) 1000 yeimsinie 940 Quainadr - - |
B). 1000 syeimsignée 933 Queinser

(C) 1000 syeira@nie 950 Quainadr

(D) - 1000 yeraEnsE 953 Quaadr

10.  Match the Indian medalist of 2016 Rio Paralympics with their sport :

(@) Devandra Jhajharia 1. Shooting

(b) Deepa Malik 2. High Jump

(¢ Mariyappan Thangavelu 3. Javelin Throw
(d) Priyesha Deshmukh 4. Shotput

(a) () © @
& 3 4 2 1
® 4 3 1 2
©€) 4 1 3 2
®) 3 2 4. 1

2016 AGwr urgreSlbGEden LgssDd Qeustp @bHw eiFismer Sleurg efleamumn GLr® Oun@&ga.

(@) Cpapdrgggriur 1 s@s®

(b) Surwrdls 2

(¢ wrfluiuer ghisCag 3. mlig ahge
4

(d) uRCwagr Csegaps CLaC -0y

2wy gna'o'r@g@

@ ®» © @

QA 3 4 2 1
B 4 3 1 2
© 4 1 3 2
D) 3 2 4 1

JSOGS16 ' 6



11.

12.

13.

14.

Temperature decreases with i increasing helght at the rate of
(A) . 5.5°C/1000 m

# 6.5°C/1000 m

(C) 5.5°C/100'm

D)  5.5°C/10000 m

2 wb SFsMEEn Curg @'mg)u.uo Qmuug@m &llélg sieray
“(A) 5.5°C @m@mn@ 1000 B i

B)  6.5°C @cu@eumay 1000 15t it

(O  5.5°C geuQaings 100 S Lir

D) 5.5°C gei@aunc 10,000 SrLit

The distance between Earth and the Sun is about
W 1,496 x 108kms (B) 1,498 x 108kms
©) 1,497 x 108 kms (D) 1,499 x 108 kms

) poID GRwEIsE Qe Gu o drer gy ereiaemay ' : :
(A) - 1,496 x 108 fiCam B irser (B) 1,498 x 108 SCam SL_Lirser
(©) 1,497 x 108 HCeurr 8L irasair D) 1,499 x 108 HGerr BL_Litsar

Of the total Earth surface ocean covers about?

@ 68% - @y

© 63% - - D) 52%

pfludlen Quorgs Lridle sLeller ureaic — Fgeigd YGL.
(A) 68% | ® 71%

© 63% © (D) 52% '

The First people to set new pdrt towns in India

(A) British - (B) Dutch

W Portuguese B (D) French
@pHurelie qg.[ SODAPSRIGEMET 2 heuTsSil WG WESET
A) YudCowrsdr ) B) Léssamyiser
(©) CumissSHwiser ' . D) 9QArEyeasmgiasT

7 - | JSOGS16
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15. Who was the twenty-second Tirthankara?
(A) Parsva A : _ (B) Rishabha
Neminatha - (D) Mahavira

@(5‘-'15@ Qurer_reugy STSSEISTT WimiT?
(A)  unfiseult B fsui
| (© Cpdprst o (D) wsmeSyir

16.  The Chola capital Uraiyur during the Sangarh Age' was famous for
(A)  Snake skins "
(B) Leather goods
~ (C) Wood and ivory works '
M Pearls and fine Muslin

#hs T Gampiaaien ganabat 2 @i arsn@ duwi Gunpg?
Q) umby Gsmed ‘

®B) GCgre QurmLser

(C) vy wHHLD esslamarns QummLseT

D) sz Lo,r_bgij_LnsiuaS]eisr

17. In which country the Intemational Hindi conference was conducted ih 2015?
(A) India ’ 7 New Jersey
(C) Singapore (D) Malaysia

2015é3'&r"ra.a(‘3§& Bpd wIBT® eI BLSSILLLE?

A @pun ®) B Aggi
(C) Aisiy - D) wCeflur

18. Fa-Hien, the foreign visitor came to India during the times 'of“
(A) Sri Gupta ' (B) Chandra Gupta I
(C) SamudraGupta - G’ Chandra Gupta II

urdlwirer arénp Qauefipm_ Guuwed Qamaiw stasds ApHurdhe umos L
@A) Beust | B) somb sHHr GLIST

(C) swsily Gust . - D) @rewrmb spHr GUST
JSOGS16 ' | 8



20.

2L

Whose idea of India provided 1nsp1rat10n for Milton’ s picture of satan sitting exalted in hlS_

~ book ‘Paradise Lost’?

(A) Nicolas Conti ‘ & sir Thomas Roe
(C) Bernier : | D) Hawkins

wrmerLw Spgewen o afier ‘Paradise Lost’ eremp uen_tnfeéd &rrg,g,rrasr arenm &FTILMSSTD
WSELITH 2 (Heurs gnsm@gwrra; DmHEs?

(A) HaCareor smewriy. B) ‘& grrweio Gogr

©) Quieflwit \ : D) aprédanev

Which one of the fb]lowi_ng institute ‘curve’ groups?
(A)  Political parties
(B) . AITUC
(C) Students Assomatlon
% Protection of Human Rights Association

EpaupLmaisetiens 618 ‘uamarey’ sl Ltb eramiLiBEpg)?
Q) owrfud s fser :
B  eagyuyd

(C)  wrETISET FRELD

D) " wells a_rﬂea'ﬁm&eh'urrg,w;rruu FRIGLD

Which one of the foIlowmg amendments provides for 29% of the total proceeds of the union
to the states? .

®) 81
(C) 82
(D) 83

EpeupLcuateudBed eThHs L Smessdle, wiHu Curss ng@ﬁtﬁloﬁ@ﬁ;g 29% Beswmoe
wreRisEséEs AstRés Gauar@Lb srerrgj @gﬁlulﬁl@@a@g?
A) 80 aug s L HMmSHD _
B) 8lag sl sdmssd
© 82z sl LHmisd
D) 83aug sl sHGHsw
9 B o JSOGS16
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22.  The Inter-state couﬁcil was set up in the year 1990 through
| (A) Constitutional Amendment
M Presidential order
(C) Law enacted by the parliament
D) Supremé court order

1990-1b et mnﬂaﬁrﬁ:saﬂmg LOGTMD éﬁ)u@;&ﬂULL@
A srfluaevly dmsssHear gpan

B)  Eyurs gl e fsre; b

(©)  unpemwenp FLLGH6 epetd

(D) 268 FHwe o greflen apeotd

23.  The Fortaleza declaration and Action Plan ‘2014’ is the outcome of
y/ BRICS summit ‘ ~ (B) SAARC summit
(C) ASEAN summit - ‘ . (D) NAM summit

‘o GUITL_Qaer GFsLanbd opmid G&ws‘oﬁu_ﬁ) 2014’ Qevefludi i’ L g
A Yfse 2 &lorpr®H ‘ - (B) &ms a.éé]mrrpn@i |
C) Awuren 2 Ffwrpr@H | - (D) pmbd 2 FwaprlH

24.  Which among the following is considered as.a primarg} nutrient for plants? -

(A) Calcium

(B) | Magnesium

(C)  Sulphur
Nitrogen

&p UL Rerer srg Qurmlsefid ag pad How s pa’ 1 Quirmer eren GHLNRHCHMD.
(A sroflwbd
(B) GQuseaifadlwibd
©C) - spsaDd :
D) eoplygen
JSOGS16 ' ‘ : - 10



25.

26.

Wh_ich ‘of the fo
. matter? :

(A) Public Accounts Committee

B)
©)

Committee on Estimates
Committee on Public undertakings

M Committee on Government Assurances

@
®)
©
)

4

- Quig) seTEG G
wHUSCHE GW
| Qurgissimn HpeuaThisEbsaTar &1
ST 2 FSTAUTSRISEHESTET G(LD

Match the following with suitable option :

(a)
(b)
(0

(dy

List I (Language) : ' List 11 (Family)
Bengali » 1. Sino - Tibetian
Gondi 2. Austric -
Kachin 3. Indo - European
Korku 4. Dravidian

(A) 4 2 3 1
. 23 4 1 P
) 2 3 1 4
® 3 1 4 2
sRwimen eflenL_cous CsihAsHSS QUIBSSIS.
ulgwe I (Gomgl) ' uqwe I (gGibub)
(@) Quissre L Sem-HQusPuen
(b) . Canehrig. 2. e fs
() &&flem 3. @BCs - gGrminfwen
@ Gsmig 4. Syneliér
@ ® O @
A 4 2 3 1
® 3 4 1 2
© 2 3 1 4
D) 3 1 4 2
' 11

llowing committee of the Parliament in India is not related to financial '

Qemaumd @B LTTTEHLOETD @@éaa‘ﬂé) e ey Hif efeusnyiis@sLen Agm_itymLuig) Sierm?

JSOGS16 -
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27.  Which plan model is a Neo-Gandhian approach to development?
(A)  LPG model ‘
(B) Developnient of heavy industries model _
ﬁ‘ PURA model - , |
(D)  Socialistic pattern of societjf model

QaupBied gqm S g |_|§lu_1 STHAW PHGRTDD DBGAPODDWIS Qasrram_gj?
A) ao.9.4 mrr@lﬂ

®B) Cuiiwéd AsmPd S @mES wrHA
(C)  ygr (PURA) wr

D)  swsiwssTw apenp wrHf '

28. Who was the real architect of the second five year plan?
(A) Harrod-Domar . . (B) Nehru
#F Mahalanobis - (D) Indira Gandhi

Qrem_reug) mHsTRTEH QLL&;&@ U4 QUMLDGFET WINT?
A)  angm’-Cumod B) GCrm
©)  wsaGemies D) @Qpdorsnpd

29.  The change in rural consumer expenditure on non-food products as compared to the urban
consumer in 2013 '

M Increased

Decreased
(C) ~ Remained constant : . : N
. (D)  Showed sharp fluctuations

2013-6) 2 awrey LIGRTL hisaT Prusorereuplen Bgmer @emsqa Cswey parhsmar UL Gumg
Srmoriseid

Q) ofsfggdreng
B)  coppgieTeg
O Peowuragrs 2_eTarg)

D) Sedurer gpp @pé&:ﬁ:swm&@a;rraim_g
JSOGS16 - 12



30.

31.

Vi

Arrange the Presidents of Indian National Congress in chronological order.
L Geérge Yule - N

1.  William Wedderburn

III. Dadabhai Naoroji

IV. Syed Badruddin Tyabji

A IV,ILLI ﬂ( I, IV, I, II
(©) - IL I I, IV ©) L 1L II, IV

QpHi Cadlw asr;ré:ﬁlj'ﬂér smaeaismer e auflasule aflams LB a5
L grig e -

I eféeuid Qeul L inien

L. grgrumi AperGrrg)

IV.  enowh LB sumig)

@ . wmoLao . ® ULV, LI
© ILLILIV - - ® LILILIV -

The annulment of Partifion'of Bengal was done by whom?
(A) Lord Chelmsford
W Lord Hardinge
(C) Lord Minto
- (D)  Lord Curzon

cumsL lWfleflenanen 158 Qsweugeurr wmi?
(A) .G&Lbd%)('éurrr'r(a L‘ﬂvz.; |

B)  arigErF Gy

©  BewGLr

- (D) sirser Gy

13
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32. If the radius of a circle is doubled, area is multiplied by

@4 3 | ' ® 2

y & | ® 8

R UL FEI6 BTD G)IHLOLEIETEITE), <2iF6 LJm'JuamnGu 2% Qumss CouaT(Hb.
@ 3 ® 2

(C) 4 ' (D) 8

33.  Three numbers are in the ratio 4 : 5 : 6 and their average is 25. The largest number is

A 35 ' . (B) 40

© 5 - - 50

apangy cramaeticn esH 4 : 5 : 6 oipayeLw syrsf 25 aafld Bla Quilus erer org? ‘
Ay 35 (B) 40
(C) 45 g D) 30

34. Find out the wrong number in the given series.
5, 11, 23, 47, 96, 191, 383

181 | . ® 23

(A)

N 4 ~ ® 5
&GQ Q&n@é&;ﬂul'_tq.@&.@fb wflesde ag gauprear eram?
5, 11, 23, 47, 96, 191, 383

) 181 | ®) 23
(© 9% D s

JSOGS16 ‘ | 14 .o



35.

36.

- (A)

180 x 15 -12x20 _
140 x 8+2x55

?
1

'8

p)'z

180 x15 -12x20
140 x 8+2x556

1
@ 3

© 2

The value of 1+ 11
1+
1+ :
1+ 1 -
l+%
@ 24
- 34
#
1 . .
1+— i & gy
1+
o1
1+ 1
1+

RO

© 34,

@)

15

(B)

D)

®B)-

D)

®B)

1S

O

JSOGS16
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37. If A:B=5:7 and B:C=6:11 then A:B:C is
S 30:42:77
(B) 40:35:27
©) 20:15:17
D) 15:20:30

A:B=5:7 wppib B: C=6:11 erafléeo A:B:C -e oy
A) 30:42:77 |

B) 40:35:27

(©) 20:15:17

D) 15:20:30

- 38.  Which of the following ratios is greatest?
@A 7:15 | B) 15:23

© 17:25 g2

Deraumeuanapmie aTps eflfign AQullwig?
A T7:15 . ®) 15:23
© 17:25 @) 21:29

39. The value of 5005 — 5000 = 10 is
(A) 5000 } - (B) 4965

P 4505 | @) 4500

5005 — 5000 + 10 e iy
@) 5000 | ®) 4965

(C) 4505 ) _ (D) 4500
JSOGS16 16



40.

41.

42.

The ratio of the radii of two cyhnders is 2 : 3 and the ratio of their heights is 5 : 3. The ratm
of theu- volume will be

A) 4:9 | ®) 9:4

M20:27 . o O 27:20

G g,@emmuﬁ]sm Qg rasaier ellflsn 2 : 3 Lo,rpguu) aeugpﬂarr 2_wiyriisefier eflflpid 5 : 3 eraflen a{gm

st safien e Hgs0
(A) 4:9 B) 9:4
C) 20:27 o ‘ (D) 27:20

One side of a parallelogram is 18 cm and its distance from the opposite side is 8 cm. The
area of the parallelogram is ' ’

(A) 160 cm? B) 230 cm?
M 144 cm? |  ®) 140 cm?

) @mm&;wﬁm @@ uEsh 18 cm. @ LEEEHOBES SBSS u&@ﬁm@ <60 Glgsrraneusq 8 cm
crafier sicucllenamrangden uuuq

&) 160cm? ®) 230 cm?
© 144cmz2 . ' (D) 140 cm?

A square and a rectangle have equal areas. If their perimeters are P1 and P respectively
then

» p<p | ®) PB=P

© PB>P | ®) P=P

S0 Fgigb LHYL Aseicussflen LTTILTTYEHT s, Dupler appataysar apGu P1 wHmd Po
arafled o '
(A) P <P ‘ , B) P =P

© PBA>PR ‘ M P:=2P

17 | ~ JSOGS16
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43. Find the LCM of 8, 15, 24 and 72.

@ 30 \ & 360

(C) 1720 D) 735

8.8..0 sreir : 8, 15, 24 whmid 72
(A) 350 @) 360
© 720 ' D) 1735

44, The H.C.F. of 3556 and 3444 is
Mo ® 32
€ 43

D) 18

3556 whmib 3444 Qeunilen 5.Gum.ai.
@ 28 S ® 32
© 43 | D) 18

45.  Which of the following regions in India is a biodiversity hot spot?
(A) Western Himalayas

% Eastern Himalayas
(C) Coastal Andhra and Orissa

(D) Jaisalmer-Barmer region

&@é&s&rLdgbgér g @bduireiler 2 erer ueg@uiiflw apmevum’
A) Cupe aflwreowur |

B) Qs afwreowr

© s _Ceonry %@ﬁun WHGD gfer

D) Qguistdwi-umior UGS

JSOGS16 I 18



46. Which of the following areas or region is most prone to Earthquake? -

M Ganga — Brahmaputra Valley
(B) Deccan plateau

(C) Plains of Northern India
(D) Western Ghats

QaupmeT sifaswmen @a)p@éa;n.b FHuED LGS
A a;rr'usrr'- ﬁq&mugﬁqn LISTOTSSHTES
(B) | séanenr S0
© aL@pdu sl
(D) CuieE AsTLTEfane

47. What is not a file sysfem? '
~ (A) FAT32 | - g¥ NEFT
(C) NTFS , (D) EXT2/3

Spaaa_cupdle, erg CamiemL Q&Q’Jmm Henrwngl?
(A) FAT32  Ca (B) NEFT
(C) NTFS ' . . - (D) EXT2/3

48. Expansion of BCC is .
(A) - Basic Carbon copier
(B) Blind Carbon Copier
(C)  Basic Carbon Copy
' y Blind Carbon Copy

BCC arenmugen afilfleurgasn |

A)  SiguUmL BEVSD _

®) sifurpsoshd - L
- (©)  eniue B&HD -

D) =iflwurpsd

® | 19 JSOGS16
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49.

50.

51.

52.

The spin quantum number of an Electron is
A 32 _ ' 1/2
(© 572 o 772

RO osLyrafler spsHE Geure_ib eramariien wHLI

A 372 - ® 12
© 5/2 o 72
One light year is equal to

9.460 x 10" km B) 9.460 x10" km
(C)  8.640x10%km D) 8.640x10% km
R0 @of @@ erenug
(A)  9.460 x 10" §.1§ B) 9.460 x10™ £. .8
(C) 8.640x102 4.8 | D)  8.640x10" £..5
‘F’- number is related to / '
(A)  jet—engines / camera lens
(C)  atmospheric pressure : (D) force of buoyancy

F - aréir eremug) rCan( Qgruiyenwg? _
A) Qg QuipdHriiser B) smogr efevena
©) eaft varLw SiPHBLD D) Asea fans

If p is the momentum of an objéct of mass m, then p?/m has the same dimensions as that
of
(A) acceleration ' B) force

(C) power M energy

m fep Qsrewre @@v Aurmeng 2psd p aafld, p’/m adwger ufwreiser aTEEn
ufloreriisEpé@é swoib o@D?

A woessd v - (B) efens

©)  fper D oo

JSOGS16 . 20 ©



53. The umt of equlvalent conductance is

/ mho cm? equiv !

(C) mho ecm™ equiv
soren S5 Spaflen Si0E )
(A)  mho cm? equ_iv”'1 ,

- (C) mho em? equiv

mho cm 2 equiv

mho cm? equiv

mho cm? equiv?

mho em? equiv

_1‘

54.  Pick out the cOrrect pairing of purines and pyrimidine responsible for the structure of DNA is

A-

P A-T,G-C

©

A-G,C-T

adenine, G — guanine, C - cytosine, T— thymine, U — uracil
) A-C,G-T
D) A-U,G-C

DNA gienolié@ ggleurar Qaeanruib Qe semenyts @eermum Qal_sanemytd LGS

A- Siigenaren, G- @mrrdﬂs&r, C —ra)&t.(.?t_rrélcisr, T- mgtﬁ]é}, U - yorélé
®B) A-C,G-T
®) A-U,G-C.

&)

©

A-T,G-C
A-G,C-T

55. T~lw Kanha Natural park is situated at

(A) Madhaya Pradesh
M Rajasthan

(C) Bhutan

D)  Uttarkhand

senanm CaAwl yrisrellen oienwellib

@

®)
- (©)
D)

wEAUGNCEED
TGS es '
LLL_mebr

2 Fgrame_

2

JSOGS16
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56. What is the amount of calories needed for a hardworking Indian Model Women (IRW), when
' she is working?

@) 1610 | )f 1800

(C) * 900 | (D) 826

spemoren Qgmfld Gauyd @pHw wrdfiiQuar (IRW), Cama Qeingb Gurg Comauliu@id

sCanfluden <D|ET6Y eTerTe?
A) 1610 - (B) 1800

(€ 900 , . (D) 826

57. . Oxytocin and vasopressin are madeup of
(A) 10 amino acids 29 amino acids

(C) 39 amino acids % 9 amino ac1ds

g @afiGLredlen opmid eurGemLiplen Grgaméi &EIUL(HeTeng)?
(A) 10 oufiCarr S f@hseT . B) 29 SACaT Sfleniser
) 39 cgquS](Béom S| emISET D) 9 ACaT SyEIEET

58. The terminal end of a chromosome is called -

(A) Metamere

% Telomere

(C)  Centromere

(D) Basal granule

&CyrGurGsmilen meafl Qeucurg senpds LD
(A) Qulomif |

B  eCamdi

©  Qsen Gyméi

D)  @giueL gadasdr/Gused Armgid

JSOGS16 - 22 | o | e



59.

60.

61.

Where is the 19* Youth festiv’al}of India held?
(A) Bhopal - (B) Goa
M | Guwahati : (D) Bengaluru

19 aug) @Sl @ma‘r@rra;ar ﬁ@eﬁl@n Grrm@, pa)LGummgj?
(A) Gunure . (B) Carmreur
©) seanrs | D) Qurma;@@

The Supreme court said that the freedom of speech and expression is indispensable in a
democracy. In which case this Verdict was given? :

(A)  Prabhu Dutt V. Union of India

: y Romesh Thapar V. State of Madras

(C) Communist party of India (M) V Bharat Kumar
(D) Lucy V. State of Goa

2 5§ f,@mar;pm gaflw il — wésarm_Huded Gus&rﬂmw LOHOID e_amremﬂmm geflitée (pyLITgma
Qb Siuy aps aupsms GHEGDL?
A QrygsV@ipdu emu&mgam

(B) an@tﬁa’q:gfrur‘rv \DSHTEL LomBlevtd
(O @bdw sbwyefidv. &8 (M)Vuugs@mrrrr

D) 8 VCsreur u)rrﬂcom

The High Courts at Bombay, Calcutta and Madras were established under the
Indian High Courts Act, 1861

(B) Indian High Courts Act, 1865

(C) Indian High Courts Act, 1911

(D) Government of India Act, 1919

LIbLIML1, s@&5ET HmIh Asedrean o wWikSibanpiisdr &) e peumEstiLLLan.
A @pdw 2 witd ms&rmrﬁ:&eﬁ sUL1b,1861 |
B) @bdw 2 wrbs wenprIGET S LD, 1865

© @ndwu 9_u_|rr§,§} wenpriseT #L1b, 1911

D) @bdw oys s, 1919

28  JSOGS16
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62.

63.

64.

65.

The Goods and Service tax will be implemented in India from
@ Jan 1,207 &7 April 1, 2017
(C) August 3, 2017 (D) Febl, 2017

, F@‘ﬁﬁwmﬁl@ Qummer wHmid Ceemes aufl eThg FraflaflmbE FerLWPaPURSSILL 2 drerg)?
(A) geweufl 1, 2017 : (B) quge 11,2017

©  wsevL3,2017 D) @ugeuf 1,2017

The e-facility launched by CBDT for online redressal of Tax payer's gnevancea in
September 2016 is

(A)  e-Market B) e-NAM

(C). e-Visa | y e-Nivaran

QsuLbur 2016 @, CBDTWQenréd Ggrn_rma;uul_Gmm afl QegisgGeaunisarg Gepaamar

Sriugnaner QeeTuseraps lﬁlmarr@ auss - DGID.
(A) sl ' 7 B) m~—NAM
(C)  rm—eSer D) r—Heurpen

Which place in India, the Islamic development bank planned to open its first Branch‘?

/ Ahmedabad ®B) Chenna1
(C) Delhi (D) Mumbai

Qevomlu auariéd eutidluilen wsd Hever GpSwirelld eriig AsmLkISILL. 2 drorg?
A)  swgTLTS A B) Gsenenen
C) yee ' . D) bewu

The Chairman of 14t Finance commission is .
A C. Rangaréjan - (B) Vijay Kelkar
M Y.V. Reddy . (D) Subba Rao

14-aug PBémgeiien samaair
A)  C.rasprgen (B) efigi Qawsi
©€) Y.V.Qryg , : (D) &sUurgrey

JSOGS16 24 N e



66.  Christianity spread throﬁghout world during the empire of
(A) Egyptian empire
(B)  French empire

(C) German empire

M Roman empire

Qaiselle Afsgausms 2 wdld uyiQu Gurrsrs smslLBUaTEET -
A adudu Curgs |
B Gdyeps Currs
| (C) Qgmoreflu Guyys
(D) CGyrwrafw Curgs

67. Which of the following factors that are responsible for present crisis in the jute industry in
India? '

I The decline in overseas market
II.  Inadequate supply of raw jute
III. Stiff competition from synthetic packing materials

" Choose the correct answer.

| y/ TandII | | (B) I,1andIII

(C) TandIII . (D) I and III

Spsavn_ aps e sl Qampw QbHureid samd @gn@@&mmﬂs&r pdlefld@ sTyewons
LIGERICEA T | | ' : |
..  Qaellpri® Gﬁ]qururrr;rgﬁéj sfley
II. epUCUITHET LD DTEES®D
I[II. Qewpens @L Myl QurEeTsatier Elq.GUTL-J('BLJITI'_Iq.
@m;bgus’wmﬂturraruﬁmw@gr’rﬁ;@g@ésasmlb. |
@A) 1 wpmn I ® I wipmd 11
(©  Tuwpgo I ©) 11 g T
® o | 25 | JSOGS16
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68. The agency estimating the national income of India is
(A)  Reserve Bank of India
(B) Planning Commission
(C) Ministry of Finance 7
_Central Statistical Organization

Bpwreder CaAw aumarew smrEdBo Hyeard
(A)  feres curkud

® ey

© B85 sp

@) wpHu s gonp

-69. - Whom did Ahmad Sha Abdali appoint as Chief Administrator and regent in Delhi?
(A) Ahmad Khan Bangash '
(B) Munir-Ud-Daulah
, W Najib-Ud-Daulah
(@ Gamar-Ud-Din Khan.

SIS a3 ST GLcdefluichn (g‘)gdra)m;gl'_é]u_lrra\rr'r wHpw sarg AHEdwurs wrenr Huibggmt
(A)  iswg s ukisTe ’

B) @ati-25- Agaranr

© BRI — 2 5 - Qgemeom

D) swi-2§- Her snen

70. Shivaji, the maratha ruler crowned himself at :
(A)  Shivaner (B) Purandhar

"(C) Torna M Rajgarh

feungd weramyTE Wiy G g EQSTRTL @tb
@) Aapi | ®) urpsi

©C) CGuriesm . D) ogrgani _ _
JSOGS16 26 o ®



71.

72.

73.

Examine the following two statements and select the correct answer to these by usmg the
codes given below :

Assertmn (A) : There has been a growing demand for review of centre-state relat1onsh1p

Reason (R) : The states do not have adequate resources to take developmental projects.

| M Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but R) is not a corréct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A)is false, but (R) is true

Spsremid Qe Gurresélu.srma;aﬂsu sfuner  efepLamw- wHISH  Qeis. (BLD_Q_[L'D Qe

Qar(Résul(Hierer QAsm@GULsat0 QmbS! slwrer eflaLew CaipQs(H&s.

sgapm (A) : wHw - orfleo  epasmar  wmpfmie  Qeleugperar  Garfémsser
' augQupdlamen. o '

smyewd (R) mrr@am’u-&aﬂéo (Bmtbum'_G ;_ﬁl'_l_msa‘)m ghu@sgmicugnarer CurSu eurrh'_xuq GUATTEIGET

_ @eemenio. .
A A opgo R) #fiCw, (R) eemug (A) eflerr sflwimren edlanéaid cg,@m
B (A wogd R) &M, e (R) erarug (A) efién afluner allerésib i
© @A c;rénug,l &l Q,mnéi (R) eremmg gsm@
D) . (A) cranuig seumy, pemma (R) erenugy _5rﬂ(§u_1

In which year, the Mahathma Gandhi Peace Prize was ipstituted_? ‘
@ 1993 | @ 1995
(C) 1997 . » D) 1965

abs eRT @ WSTHLT STHEGe iwwvisster ome Compnefasiiu L g?
(A) 1993 ' (B) 1995
© 1997 : - (D) -1965

Who among the following is the pioneer of the theory of neo-realism?

M Kenneth Waltz ' - (B) Hans Morgenthau
(C) Barry Buzan ) (D) Raul Prebish

Epaumueuisaiier P o @rawag EmEEIE G&mLurqu,&r eGaTmg wTE HeEpueit wTi?
(A)  Qaemang cumedei ' ‘(B) aprenav wrrEenGsem
© ~Gufiysrar (D) Qparé GAQued
27 JSOGS16

[Turn over



4. Whlch of the following bills were declded by the joint 81tt1ng of the two houses of
Parliament? : :

(A

(B)

The Hindu Code Bill, The Prevention of Terrorism Bill, The Wbmen Reservation Bill

The Dowry Prohibitidn Bill, The Panchayatiraj ﬁi]l, The Anti—Defection Bill

/ The Dowry Prohibition Bill, The Bankirig service commission (Repeal Bill), The

)

Prevention of Terrorism Bi]l.

The Banking semce commission (Repeal Bill) The Preventlon of Terronsm Bill, The -
.Hindu Code Bill.

enaumeuanaldmieT eTbs LEETHTESET LTTTEHLOETD S0l (Hé &11'_1_§§,5rrd> ﬁmm@m DoUUL eneu?

(A @bg s Qgrgly wGsrgn, LwRIsTUTS SHLIL wGsngT, Quamsar @L 251680 wCerg

| B).  arslsman gL wGETHT, LEHETLSS QTR Lo(Ssrrgrr, sLHSSTEUD 5@5)1.. wGFTHT |

©) apslsmen gaL &L 1D, surméilu umﬂ&m Qbmmru_lm @ugg LoGgrrgrr Uwiisreuns SHLY
wGargm ’

D) eidl uaisdr %@MU.I (Qusg) WCsrsT, LWRISTATG SR WEFTHT, Q& FI_ AsTEGLIY
wGengm '

75.  Punjab is the home of _ | folk tianée.
(A) Damali
(B) Tamasha
(©) Lezim

K Bhangra

Ll@j&rl’l_'.l T BB sameuller 2 emellLLb?

(A
(B)
(O

D)
JS0GS16

SLomedl

SLOTaYT
Qavedid
URBISTET

28 w:



76.

7.

78.

The Twelfth plan period is

&) 20072012 - ~ (B) 20092014
@ 20122017 : (D) 2014-2019

Qs&raﬂ@uaﬁ'n_rrajg ghsres® AL &ratd ‘
&) 2007-2012 : (B) 2009-2014
© 20122017 | (D) 2014-2019

The Nehru-Mahalanobis model was introduced in the

(A) Firstplan = W Second.plan
(C) Third plan - (D) Fourth plan .

Cr-seCarmiey S Lﬁnﬁrﬂmm ahbs L A LEsHeT? ‘_
A  wsdBlid : B) @rerLmb HULid
©) weaprbHLB ' (D) prewambd S i

The main driver of inﬂation in India in the last few years has been

Increased rural wages

P/ Escalated food prices

(C) Increased cost of intermediate products

D) Increased fuél cost

' @‘f_r,ﬁu.lrrsﬁla) &5 Sl %aw@&aﬂa) ueTeSasib qnpuu. STeT(HLD @pa&lw a;rrryasnﬂ
(A) Srmosisaio aamS] emglarﬂug ‘

. (B) eawe grefluiiselier eflepe 2 witay

©) @eriuce Qurmpsafien elane @*,gwﬂuq_

D) mﬂ@urr@dmaﬁe&r.eﬁ]@m 2_Wwirey

29 - - JSOGS16
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79. Bench Terracing is famous in

(A) Tanjore & Namakkal . ,e( Ooti & Nilgiri

(C) Salem & Dharmapuri

W B &S Cauerrarrenwo i@ 1SS Quibmg)

(A)  seremayit & BroEEO
(©) Gsaw & siwyd

80. “Intangible goods”
(A) Machinery, instruments, industries
(B) Waste goods
(C) Oil seeds
% Health, Research, Quality Education

S|(Heuls Quné}s’msﬁ
A) @upbdrhisdr, smelsd, AsTfDsTenaaar
B) eulurslloerg Qumm ser |
©)  adn@enis sfsgbaar

| D) m_sbv [BEVLD, Qi,l)'rru'Je'fQ. SLoTen ;sd)afﬂ

81.  Who started the Self Respect Movement?
(A) V.0.Chidambaram Pillai
" % E.V. Ramaswamy Naicker
' (C) K. Veeramani
(D)  Ayothi Pandidadas

swwflwureng @mé&;ﬁsa)g SeusSweuir wmi?
4)  a.o. fAgbumd Qérenar )

B) | rr.efl. gmogms prussiT

(C©) & &Sgwafd ‘ ’

D)  <Curd uamggzrev

JSOGS16 . .80

(D) Madurai & Dindukal

®) o & Sl
D) wgeor & HarRsae -



82.

83.

. 84.

Which of the following period is concerned with the rise of extremism?
(A)  1885-1905 pf’ 1905 — 1920
K(9) 1920 - 1931 ' 1931 — 1947

GemeumeuareudmIeT aTbs ST sLLLb Selgeunssden erpsHGun® QpmimLwig?
(A) 1885-1905 (B) 1905~ 1920
(©) 1920-1931 (D) 1931 - 1947

Which one of the following Movement began with the Dandi March?
(A) Khilafat Movement | .

(B) Non-Cooperation Movement
W Civil Disobedience Movement

(D) Self-Respect Movement

\DeTeumeuTaIDMIET eThE BLISSD STl wrgenyu e Ggrrl_ra:éﬂu.lgz?
A Sorus Qussd

B)  gsg@purmn Qusshd

© s Log)_mqv@u.:e}sa;m

D) swofwureg Guésd

In 1940, during the individual Satyagraha the Pres1dent of Tamil Nadu Congress Party was’
(A) Sathyamurthy , ,
(B)  Rajaji

M Kamaraj

(D) Kumarasamy Raja

1940-& saflipuir sgHundysls GungnLLg,ﬁlar Curgl sOPEIH sradye sl soaurms
Qopsai -

@) spPuepisd

B  grgrg)

(C©) smwyrsi

D) @wrgend yrgr

31 | JSOGS16
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85. The sum of the two numbers.is 116 % % of the second number, then 'the ratio of the first
number to the second number is .

% 1:6 @) 3:7
© |

7:3 ' D 7:4

B cramsatien smBgorarg @reén_raug cemafia 116 % ggaigd aafle apged aamaflh@d
GrarLreug). cramesflh@omer ell& gD | | -

@ 1:6 - | ® 3:7

© 7:3 o ®) 7:4

86. - In a clock, the angle traced by the hour hand in 12 hours is

p” se0° ®) 180°

(C) 90° ' D) 30°

@ sg&EH0, wenfl sM_QW operefien Camemnd, 12 weallée crenarauns QBEGWD?

&)  360° ' (B) 180°
© 90° , D) 30°

The value of 999 2?-?- x 999 is
' 999

/ 998996 ®) 99999

87. .

(© 999 ' , (D) 5997
995 L

999 ‘@‘X 999-Gﬂm$uq

(A) 998996 B) 99999

© 999 ’ D) 5997

- JSOGS16 | 32 | | e



88.

89.

90.

A, B and C can complebe a plece of work in 24, 6 and 12 days respectively workmg together
they will complete the same work in

M 3? d}ays » B 4 % days

© 103 days - @ 124 days

A, B wvpmw C geunser @gﬁlulﬂLL Caumaamwu Gedg @ptq.ass THEG sre SjeTeyser LpepGu
24, 6, wpmib 12 priser crafld Qeuiadr epeaumd Corpgl 86 GHLILL Caumamu Aslg Wués
THS5iE QSHTETERHD HTe BaTa| :

(A) 3% BT S6T : ' B) 4 % (BT 86T
3 . . ’ 1 .
©) 107 B SET D) 12: BILgeT
If1+1+-1—=4 then x=?
3 2 x ‘ ‘ _
A — — C) — -~
( ) 19 B) 19 © 17 (D) 10
l+l+i=4 erafled x=?
3 2 x
. 6 : ' 8 - 12 ' -9
2 - () Bt 2
19 ®) 19 : © 17 D) 10
The avefage of first nine prime‘nﬁmber is
11— : 22
B g | ®)
' 2
© 25 ‘ D) 12Z
(g)gsb 9 uar eravrseflen Frmaf]
@ g ® 22 )
- : : ) .
© 25 . D) 12Z
33 o - JSOGS16
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91. AandBare brothers, C and D are brothers. A’s son is D’s brother, how 13 B related to C?
(A) Father
(B)  Brother
(C) Grand father

M Uncle

Auyib Buyib sGangpiraer, Cuyb Dy sGangriadr. A-wenw waer D -uller sGasrrgr,reisr. erafler C-&@ B

cTehIaN M6y ?

A)  swur
B) sCangyen
©  gngs

(D) wmonr .

92. The next term of the series 7, 3, 10, 13, 23, : 18
@A) 33 o P 36
© 39 (D) 43
7.3,10, '13; 23 eranp euflensier SiBSg ered.
@ 33 . ® 36
- (© 39 D) 43

93. Find the odd man out: 3, 5, 7, 12, 17, 19

@ 3 - ﬂ(mv

© 5 oM 19

Geneumd cuflensufe Guﬁ@;’bgsrrg aaneert Cairey Qswis: 3, 5, 7, 12, 17, 19
@ 3 | ® 12 |
@€ 5 D) 19

JSOGS16 -~ | 34 | L ®



94.

95.

- 96.

. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. -

" The sum in
M 68 A ®) 769
© 816 (D) 59

@0 CsteassE sefleuliy @a)un 3 Qbm@ssrﬂw SenLEGLD Gmng;gg@grrms @815 LOHIILD
4 <parpsafier Hen_s@Ld Gwnggg@grrma; 5.854 arefléd pRFESNMS WiNg?

(A)._698 o (B) 769
(C) 816 ‘ D) 595

What will be the compound interest on a sum of Rs. 25,000 after 3 years at the rate 12 p.c.

‘per annum?’
(A) Rs. 20,000 -
(B) Rs.12,800.20

¥ Rs.10,123.20

(D) Rs. 10,000

@ 25,000-6@ 3 aupLiisené@L Qe 12% euliy aigb Hev @ aau;@v Qg RTHES
(A) Rs. 20,000 |

(B) Rs.12,800.20
(C) Rs. 10,123.20
(D) Rs. 10,000

The simple interest 'on T 7,500 at 6% per annum for 8 year is

@& T420 @ 73,600
© 2,800 . D) 3,400

2&T([ enmiEE 6% ggﬁqu. eisid 8 yamHaafic .7,500-a&men saflaut . crénan?
(A) T 4,200 | B) 3,600

(€ 72,800 D) T 3,400

3 JSOGS16
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97.  The difference between memory and storage is that memory is - and

storage is

% temporary, permanent
-(B) permanent, temporary
(C) slow, fast

(D) static, dynamic

Heereusn wppw Ceallliussdear Caugur g, Hoaesd g A OHHILD

CaficiLaid GTEHTLIG) ~
A) spsrdswrerg), Hoouraig
(B) ﬁlmmu.mmg;, SHETFLoTes) ..
(© Qugeurang, Aeraurang

(D) Long)rf'rf,]d)w. Qurighlame

98. SWIFT is —
M Society for Worldv‘vide Interbank Financial Telecommunication
(B) Standard Worlldwide‘ Iritemet Financié.l Transaction
((j) Society for Worldwide Internet Financial Transaction

(D) Standard for Wofldwide Interbank Financial Telecommunication

SWIFT ereLIg) — » 2 GLD.

A oos a;aréﬁla)rrm amdlser Qe Gu pLEGW ;ﬁlﬁ Qgreneg A iy iUy -
B) | 2 @& Sjareflorar Qe Hf ufeuissmen g‘m‘o |

©) ewserellwre Qamearu 4 uleufiggenan sienioLiLy

, D) 2 o8 saellarar uiidad Qe Cuurer HE, Asrew Asriy ;ﬁn‘o. . .
JSOGS16 36 ®



_ 99. ——— Year Supreme Court first t1me banned the muung activities in Aravalh Hl]ls
P 2002 |
B) 2003
(0) 2004

(D) - 2005
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100. Assertion (A): The frequency .of flood in North Indian plains had increased during the last
~ couple of decades. S
Reasons (R) : There has been a reduction in the depth of river valleys due to deposition of
- silt. ' ' ' ' '

M Both (A) and (R) are true and (R) is the correct explanation of (A)

. {B) . Both (A) and (R) are true but (R) is not a correct explanatlon of (A)
(C) (A) is true, (R) is false
D) (A)is false, (R) is true
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Read the follovéing instructions carefully before you begin to answer the questions. *

10.
11.

12.
13.

IMPORTANT INSTRUCTIONS

This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open

~ it at the commencement of the examination. As soon as the signal is received you should tear the right

side of the booklet cover carefully to open the booklet. Then proceed to answer the questions.
This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are -
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shal be reperted to the
Invigilator within first 10 minutes. ,

Answer all questions. All questions carry equal marks. '

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. '

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or

| in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct

- response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. ’ .

In the Answer Sheet there are four circles @ ,®, © and @ against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark

more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is

~ the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
0 ".. - :);. . .: 3 . " -, 1] ... £ r w¥a - .- > -

0 s 'y

The sheet before the last page of the Question Booklet can be used for Rough Work.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion. o .

In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question booklet.




